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class A {
static void main(string[] args) {
A.bar(3);
}
static void bar (int size) {
int[] arr = alloca int[size];
A.fill(arr, 7);
}
static void fill(int[] nums, int val) {
int i = 0;
while (i < nums.length) {
nums[i] = val;
i=1i+1;

127 MW 0OR27 0°DWO Y oY
ST7-0Y BN W MY KOR 790700 DUXpND MY WY1 AR T DR e

,'R 0°9°Y0 11IN92 TR ORNTY NWATI IR LTED0MIP 1ara AT NIncd APK 1991 ,a810-002 YA AN MNDIT YT NpTa e
M1

Y2 DAY NRPPNN AR AWONTI AW N°10N7 RAAT AN MINDIT NWSIT IR TR a2 vaon (P15) R
:DOR27 DOVIDY WAT 1NN 2TI-7IN 7970mIpa DY 1w 0027w W7 0w nR 0700 ('P1 10) .2
L2V NIAW NI DWMTI MWW e
,alloca™Mpawimn e
Jength o2 m>wn e
,alloca ™"y PN 79N MARD AP MTPD WA e
TR0 TAT2 MIVEANAT NPT PE0MIP 1T DWRANAT NPT e
LTIPT TR MW U901 K1 Lbar XPIIDT 2990 oY XIw vH2n08 TP nR ORI ('P110) .2
DIRRNTY X86 720K NIRTIT 012°0 2731 19722 NINRT AT, TWIWS
:N°1502 MIX2T MTIPI2 RAPATIT N°ION2 2P0 1112717 280 DR R ('P1 10) .3
Jbar 7°Xp1102 ANWRIT ATIPOT Vv b L]
,ATIPOT VIR NRy 2
il epnoa v nwmn nmpia 3
Jbar mpoa bW snn NP2 4
91175 ,2137021 MY 7AW ¥A0 RIT APYOTT MW m1anwy 1000 737 NIRRT 171002 NAn3 ,foo IR0 YR 1Y ANAW Mol
J12VD7 W2 27IAWI R? DONINT W T3 ,19-10 LARMIP 932 M2 NI2N0Y ndTpnnt MMa M2mnoa 72100 Ntonn

JIRTIPR YIX01 0197 LA bar(3) aR*Pa HRIPRI 00T N2V NRY 117 28 DR XA R3T 0WON0

address value
1000 args
996 main return address
FP —» | 992 previous fp
SP —» | 988 3 (argument to bar)
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DX N1797 WK NPIN 9¥ FYNNR TIRAY P27 IM93) 22W200P 19IR XM AT, RANTY WD TIT2 NN DYIT AR PITA2 1T VR
L(MWOR 993 1Y IR ,NIPIN N1ION Y TYIND OX 2°RYD MDA NWIT
ATWHI 29w IR, AT NPT DTV R

N

9531 TN 1990 bar-n D°RY¥Y MWR IR ,stack-17 9Y 23pn A% bar-1 702 ,bar-2 Yama 97Am array 12 2% X7 9137 DR N8I w77 LR
AR-7 P91 R1w stack-2 23pn? DWW 7010 AwWYAY KO ,7IVH2 12°RD DWAL 7010w AW foo IWIN ATINR TN AR NYD LWOA YTV TIvnm bar
.J2%0n AN oy foo W

29O 29Wa W7 DWW .2

:NPLIAD NPT type table-1 12 710°01 AllocaCall-? ASTNode 7°01 ,parser-2 2>y 97377 nooyn ALLOCA-> TOKEN nsoi? aoma
TR KY int RI7 size-n1 W type-nw ;1717 e

NewArray-2 type Np>72% 717 type np>72 o

.7YN3 D0IATRT 190N size N7apnw allocaArray nTinn 0°0°0w (LIR-7 25wa

:code generation-11 27w3

4*(1 + 77Yn2 022X 1O0N)? Sp-11 DR TN ATINAY AR e

.(0°12°R77 1D0N) NN DT DIV sp QPR ,spH4 DT ret-n o

.J¥NN DR PR temporary-i1 JIN? D131 ,TWnT NP AN Yaxn RITW ret-7 allocaArray-i NYRp1on 77102

.arr+4i nN2N3% w1 1 1R arr-4 2oL Wl length-% :a7p M3 172 v length NRYIM TIwnY AW

IO AT MPYTa

Null pointer reference e

Array bound e

|

DO9R2IDI 2NN IRIPT 2 ("2 20) 4 TONY

VYW QY TP %D 1% 0125 ,mMnrn move MTIPD? 222 conservative coalescing 1My (interference graph) nyao 7737 X117 °In
.move MTPD NP H0an WK ,(N1DOI MXRIP\MNI KY?) DR YW 1507 NN
el
71192 AT 5V IRIINA N2 TARIW AYSIANT ANIRORT YWD NR M7 L(N79N7 DR DWW 720 PR) MyIona 973 xR (‘P 10) L1
(0% Oy 2P K7 OR 23R TN QY WOR) DMK MW Nhya
M2IY577 790N WRN move MWD NIND W 72w ,1 AY02 NINAW 2°780%17 901N MY 7731 2w NP ARk xanToan (Pr 10) .2
.OTIPR 92902 an NAYRIN apnnan

NWANWNHI R0 M"Y spill TMRY VDT IR M2 N2 TR °93 ,graph coloring- AN MMYK 77010
279 273 priority-2

priority = (uo + 10 * ui) / deg
uo = use + def outside of the loop
ui = use + def within the loop
deg = degree in the interference graph
ne
12 773 5y Hono1
RO nwpa oAmATl,2 e
rl,r2,b-5 npnpn nwpatamna e
r2-% AR nwpairl,a-? nMpnpn nwpa nnb e
Tomn ,r2 Oy TMR® a 7700 OX X7 NPwh L0 aarl oy TmRe b awn coalescing-2 TR ,rl O¥ 7MIRM a 02’ PWRIT coalescing-2 o L1377
SIWNY YOAN DNDMAIRT DR VXA POV XANTY TP WK AIPRT DR NONYn move N7
Mov4a/*a
Movarl/*rl
Print rl /* rl
Mov 5b/*b,rl
Mov b r2 /*rl,r2
Compare rl 12 /* -
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14.10.2007 : >98N
279

AW V9 91D XN
'Po237 A1 :2a0nn
N9 N

myw 3.5 :qwn

SOXDIDAIRA JTan

INIR TINDY 11901 219 717970 93 DR R1PY K1 ,9RW 90

DIYNRR ML : (M7p2 25) 1 758w

ST-HY PHR 2WITI 2N TPINT YIINR D5 WANR 91972 0% 07D . 97OMIPA D12 17 IR ,EDMIP 1T ,7%07 1T 999 DR MYTINAT DX AN
21212 DR °7°2077 ,MIN53 MWD 1907 WA 7702 L VMIRDT TR DOWHRNwR 27ANMAPRY 221101 °127 172°R2 0170 ,71729010IP0 NamD IR 1770mpn

mne1 nuw RA) left-factoring Y825 WHMia *1annT MNP DLW PITRTI DR DORNAY >72 1971 NPoRAw opt e G ;17p1a (P15) X
(77217 Pann
MR MDA N2 NP ArR afi]=b[i] mawnn (P15) .2

int[] a;

boolean[] b;
.12202 X-7 2°Rnn (symbol) 12°0 7°7 722 N X MIpna Janwna DY aronn R (‘P11 5) A
foo gp19a R1 117 Aanwinn Sw 1979 NOAR TNXY 7Y IR 0wl ebx (register) Raw vomn ('P15) .7
[B_rise, A_shine] :n27 n¥pnoa Nk N9 B aponnn Sw nexpnoa nbaw ('P15) 0

02

LL X°73 737 79pna °9%2anna mintaa nusw YTRT0 O 2OWITI0 20037 SI900mIpa naa AT LR

TN TR N D230y TR 93 2w type-n DR 21727 275 symbol tables-2 wnnwn ,semantic type check-1 25wa :x0mp par .2
MR 07p KW 2721 ,09W 9102 17207 D19 mINwn 73w *107 symbol table-n1 N33 25w3 SYemp A )

MY 7732 Dwnnwn ,code generation (assembly)-n1 29w (X0 AT LT

.ClassLayout-i1 n7°¥> 25wa LIR-2 01107 251 :30mp jar - .0

379210 MmNt 2 (MTIRa 20) 2 AhNw

: b-1a 2N HYn NMIRAT NBWT MNnI
ALl={a"b |n=1,2,...}
L2={a"b |n=1.2,..}U{a"c [n=1.2,..}

.aab 1A Hw 71T IR XM LL(K)-7 7oww L1 7ow? wpn-qon piapronoa (P16) X
9932 012 HRAWA PITPTI 1220 DR D771 MIXWIRIY WRIT PITRT 12°0 DR 2MWI AR 382 1 o LL(K) p17pT cnmotn
(2NN P) PITRT 210 K22 NN 2apnn WK 1Y L,(ARORNn K920 0"Y) 09p2 0ORAT 2MNA K'Y $apIn ;TR

JTN°1 NRawY 2°23¥n NRAReT 012 0"y LR(0)-2 X1aw sxam L2 gowh pywpromoa (P11 7) a2

.aac VoPN YV 0TPA Y02 1w i AR Cven ('m17) A

:]ns
:L2-% prap7 1ont 2

S - A$
A—>aAl|ab|ac

IC naw™ nyana : (M7IR2 30) 3 oNw

201 0°7UR192 TNY NIR-5Y IC nowH 97»5m1p2 DWINT DOMW 12°R 92077 NWRANn T T A9RW2
IR RANTI N300 0"V 199 DT 020w 093 by reference

class ByRefExample {
static void main(string [] args) {
int x = 5;
increment (x) ;
Library.println(x) ;
}

static void increment(int & y) {
y=y +1;
}
}
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reference parameter 12°7 y 0707 ,RANITI N300 ,5WN7 19w M0 N7 NRY & 172°07 N0 "'V reference parameter-J 11211 0270
7007 NPI9NT main TPXPNDT YW x MWPHT TINWHT W TV DR TWYA? 7IWA increment TPXPNOIW T3 ,by reference N2y x LINAIRM
.6 7DDN NX o>

n%2v N33 ,AST N°3121 7200 MIN°I ) 9RPP0P? MINI (WIND J0nI97 102 Tian? 73 0°K2T 0°27W2 22WINT77 2wn nX v ('P17)
.(type-checking 9212) n1°0110 MpP°72) 222107

by reference 0>707P97 012YVAT DPVINAINRT NPT NP>T22 VD 0N RI,NPLVIADT MP>TAT 27W2

NI2YI% MWINT NWIN0T MPPTAT DR 7757 WK ,RXNPNTT NN increment (x) JRMPI D1PR 7P NWH ®NT a0 ('P12)

.OTP1 7°Y02 NUHY by reference 2°0INIAIN

.37 99208 TPY LIR-7 nn12 00707953 n1ayn winon X vw (P11 7)

$I¥°2 NXY increment TPXPIDY x NIV 1D DR NIRIT? 72 P NPOOA VIO MR RANTA N°IOND XY 222087 TP DX X7 ('P17)
TP TR MY D0ININI .y = y + 1ATp90

(.Library.println(x) 7 D2¥NI7 100)

DI MRANT X86 22210KR NIRTT D170 2791 71722 NINRT 77, T

DR 17X DPI0ART AN DR ORT .y = y + 1 37997 XA IAKRY NII0ANT 28 DR AWhY 72 0700 97902 n°aaw n1on2 wanwn ('P17)
.°10MMA 2N MYRYH

DWITIN OV

AMPERSAND x0» TOKEN nooii :2p°0p% mina

.isReference 7anwn Formal-2 5°011 AST-21 777137 *9952 FORMAL %3 °15% "R1v301% AMPERSAND nooy7 :>7%2nn min%

NOM WIN DI YR 7w DIV NR YAPW RIT ATINN 723000 YW 1w oX override HY 0°9on0n UK M170 itype table-1 n°*13

type w1 &Y ,(Pwnh C-7 73°12) $°281 22 IR Y2281 OV T07 RO ARIPAY 103 AR 392 T3 MW ok (1w 019°0)? ¥2a8n

STV TPXDIND AT WD 23 type MR MPYAd MTINNAT N onenn reference-2 wIn

.array location X variable location X177 T2WIw 0NI9IW 1727 TN :N1LIAD NPT

increment(3) :N°PI7 KD RIPH RHNT

:LIR-2 wn

ImIRD .& 11°077 oI MRS — foo(R1=&x) 71X N aXpR by reference Mow1 0n10 OR :ATINAY ARP P22 0000M @
.77V Hw R 302%n Hw 772w 10”7 code generation-1 AN

9730 790 T WA DwanwnY ,2apnnw YPaRna AW TV DR MIPD TANWR2 00w JTINR NN e

Wnn YIPRT TINWAT TN T3 .09P3 1WYPW YN YW 1IN0 TIND VY mIpnn Inwnb 9910 T DR 20w ,aTNAn 7102 e

:assembly-2 wan

(%ebx) NR 17w1 %ebx PWn° DIpna N°I0MN7 NMNTI 019D W AR 92 e

[ )

X

N2

NIONRDN 2NN NNEPT : ("R 25) 4 ThRw

MM 29w (7032 TP liveness analysis-iT aN™MMOR W 77YD70 NRYIN) 712 DYODIAT DINWAT W NN 1IN 0°°1°2 NHWIA N2I0IN 190
JIPRNNT TTIPDT VIR R 281D 20NN NN

:]1ne
enter: . .
x := 8; /% x, rl, r2 */ WM WANwa? TNX PR 197 potential spill PR °3 27 0w
y :=rl; /*x, vy, rl */ .553}Hjorﬁy
N z :=1r2; /[*x, ¥, z* 1277 19X stack-9 101217 ©ONNAYT VWD 7737 N2A°N3
oop:
xi=x-1; /*x, y, z */ °I0MAT WRA2 X AWRD Z,y,X
vi=y+z; /*x, gy */ TR 93 INY 710 1DINA 1IN PYH DANWHA TR 93 pop-2
z := 2; /* x, y */ (7%P TR AORW) 00O
if x > 0 goto loop;
rl :=y; /* rl *x/
return; /* rl */
.N315091 D2Inwian Pw N P1na? o°knaa (interference graph-m) myaonn Aa Nk (‘P11 10) X
,F3-112 .11 2000°30 wHW P17 W ANINIAY I TP PY0nn MY 773 Yy graph coloring-i7 on avR nx oyoa (P115) a2

O MR 7Y 00007 DWIRND TP 22017 12-1 1l WK
k-n mno 10 7mRnT NN R TINRD %1001 b-1 a oonny 1w :(coalescing) onn¥ TR Y1827 Briggs Hw 1100002 "wnnwi 19-13
(k=3 pomoun m9Rw2) k-2 anw R 7173 7307 29va 00w

nwRnwn R0 'Y spill 71IX? V0T DX T2 N2 7w 03 ,graph coloring-7 an MoK 701
279 727 priority-2

priority = (uo + 10 * ui) / deg

uo = use + def outside of the loop

ui = use + def within the loop

deg = degree in the interference graph
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